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QUIZ-01

1 fAufdfaad § o v fgara gHleor 8?
A (x+2)(x-3)=x*-4

B.x+3=2x-5
Cx*-4x+5=2x-3
D.x3-x+1=0 (@)
] : HHIBROT &bl TeA B W x? - 6x + 8 = 0 UTH
EIdTe, STax? +bx+c=0 b B H &
2 TF fguTd GHIGROT HT A G B9 T 8?2
Aax+b=0 B.ax*’+bx+c=0
Cx}+bx+c=0 D.ax*+bx=0 (B)

7T Tgend GHIKIUT &bl HHd ¥9 ax> + bx + ¢ =0

gaT 2 51el a = 0|
3 THIBROT 2% - 4x + 3 = 0 BT fafdhad (Discriminant)
CRIKE
A.16 B.-8
C4 D.0 (8)

&reqT: fafdthd D = b? - 4ac = (-4)? - 4x 2 x 3

=16 -24 =-8I

A. ST v aredfdes 7t 81 &
B. IS IRdfdd Hel Tl gldT
C. 51 gHM dRdfdd HoT 8ld &
D. U & {el eldr & (B)
1T 516 b? - 4ac < O BT &, dd HHIDUT b Bl
dRkdfee HeT Tl 8d|
5 HHTHIOT 2x% - 5X + 3 = 0 b HeT TTE?
A x=13Rx=3 B.x=13Rx=15
C.x=23Rx=3 D.x=-13Rx=2 (B)

ST : TUAEE fafe A: (2x - 3)(x - 1) =0 — x = 3/2,1I

4 fe fodt fgema aHieoT T fafdthe [T 4 A El, ol :

6 fgETaague 3x? - 12x + 12 & LA TATE?
A.2 3R 2 B.13MR 3
C.231R3 D.33R4 (A)

&gr&yT; fafdhe = 0 811 A Sl T M S1 g A x = 21

7 U fgerd aHteRuT P 3ffeidsan foa et 81 debd &2

B.Gl

A.TH
C.dH D. 37d (B)
7T Tgend HteRuT & 31feiddH 2 Hel 8 Habd 8|
8. FHIRUT6x2 - X — 2 = 0 & HA a1 &7

A x=2/33Rx=-1/2 B.x=13R x = -1

C.x=-33Rx=2 D.x=13Rx=-2 (A)

ST&T: TUTTRAS: (3x - 2)(2x + 1) =0 — x = 2/3, -1/2I

9 THIPBWT ax? + bx + ¢ = O ¥ FHM HeT B BT 2

TITE?
A.b%?-4ac>0 B.b? -4ac<0
C.b?-4ac=0 D.b?-4ac=1 (Q

&r&T : Ife b? - 4ac = 0 81, dl HHIARUT & Gl Hel FHTT
gd &l
10. 79 7 @ 587 ax? + bx = ¢ 8 B BT A feaT 2m?
A. gfaig B. $iferTemd
C. sIad D. 3{@-&RHT  (C)
g7 : FEITE A ax? + bx = ¢ BY Tl FHIBUT &b feiw
g1 T g fear |




